RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving Contract (No. FA4887-10-R-0042) with the United States Air Force-Luke Air Force Base to conduct a study of Traditional Cultural Places on the Barry M. Goldwater Range, near Gila Bend, Arizona and Approving the FY 2011 Budget)

RESOLUTION NO. 10-472

WHEREAS,	the Tohono O'odham Nation ("Nation") recognizes the need to protect, preserve and
	manage cultural resources and traditional cultural places on its traditional-use
	lands; and
WHEREAS,	the Barry M. Goldwater Range, managed by the U.S. Air Force ("USAF") located wes
	of the Nation, consists entirely of the traditional-use lands of the Nation; and
WHEREAS,	the Nation's Legislative Council established the Cultural Affairs Program in 1997 to
	assist with the aforementioned needs; and
WHEREAS,	the USAF has agreed to fund the Nation to undertake and complete a two year study
	of traditional cultural places located on the Goldwater Range in the amount o
	\$249,730 (see attached budget); and
WHEREAS,	the final report from this study will be used as a management tool for the USAF to
	better protect and preserve traditional cultural places on the Goldwater Range; and
WHEREAS,	the final report will provide important information on the history and culture of the
	Nation.
NOW, THER	EFORE, BE IT RESOLVED THAT:
	1. The Legislative Council does hereby approve Contract No. FA4887-10-R-0042 in
	substantially the form attached hereto, with USAF in the amount of \$249,730 as
	attached hereto for FY 2011.
	2. The Chairperson of the Nation is authorized to sign Contract No. FA4887-10-R.
	0042 with the USAF and any other associated documents, including but not
	limited to, documents that may be needed for the obligation of funds to the
	Nation and receipt of funds by the Nation.
	3. A Goldwater Range Traditional Cultural Places Study account shall be
	established for the Cultural Affairs Program.
	4. The Cultural Affairs Program is authorized to spend funds from the Goldwater
	Range Traditional Cultural Places Study account for personnel and operational
	purposes consistent with approved budgets.
	5. Project personnel shall consist of: Principal Investigator (Consultant), Research
	Assistant (Consultant) for the GPS mapping portion of the project, Project
	Director from the Tohono O'odham Nation (Consultant) and Research Assistant
	from the Tohono O'odham Nation (Consultant).
	WHEREAS, WHEREAS, WHEREAS, WHEREAS,

	RESOLUTION NO. <u>10-472</u> (Approving Contract (No. FA4887-10-R-0042) with the United States Air Force-Luke Air Force Base to conduct a study of Traditional Cultural Places on the Barry M. Goldwater Range, near Gila Bend, Arizona and Approving the FY 2011 Budget) Page 2 of 3
1	6. Peter L. Steere, Tribal Historic Preservation Officer and Joseph Joaquin, Cultura
2	Resources Specialist with the Cultural Affairs Program will provide oversight fo
3	the project.
4	7. Carryover of funds provided by the USAF for the Goldwater Range Traditiona
5	Cultural Places Study from FY 2011 will be used for the FY 2012 budget.
6 7 8	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>06TH Day</u> of <u>DECEMBER, 2010</u> at a meeting at which a quorum was present with a vote of <u>2,595.50</u> FOR; <u>-0</u> AGAINST; <u>-0</u> -NOT VOTING; and <u>[03]</u> ABSENT, pursuant to the powers vested in the Council by Article
9	VI, Section 1 (f) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono
10 11	O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (4)
12	Stat. 984).
13	
14	TOHONO O'ODHAM LEGISLATIVE COUNCIL
15	
16	
17	Letter Asi
18	Verlon M. Jose, Legislative Chairman
19	19 day of December, 2010
20	15. Decemb
21 22	1 day of NECEW/361, 2010
23	ATTEST:
24	ATEST.
25	
26	CATAINA I I I I I I I I I I I I I I I I I I
27	Evonne Wilson, Legislative Secretary
28	•
29 30	<u>17</u> day of <u>Lecumber</u> , 2010.
31	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham
32	Nation on the
33	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
34	upon his approval or upon his failure to either approve or disapprove it within 48 hours of
35	submittal.
36 37	TOWNS CLOSE TO THE COLUMN TO T
38	TOHONO O'ODHAM LEGISLATIVE COUNCIL
39	
40	1/Dorlan by
41	Verlon M. Jose, Legislative Chairman
42	volton in. jose, pegisiative engilingi
43	
44	
45	
46	
47	

Page 3 of 3	Dec. /
APPROVED	on the 17 day of Decade, 2010 at 4.45 o'clock, S.M.
] DISAPPROVED	at <u>4.'4%</u> o'clock, <u>\$\frac{1}{2}\$</u> .M.
	\mathcal{M} \mathcal{M} \mathcal{M}
	Mil II
	NED NORRIS, JR., CHAIRMAN
	TOHONO O'ODHAM NATION
Returned to the Legislative S.	ecretary on the
Allember , 2010, :	at <u>5:03</u> o'clock, <u>P</u> .M.
A. 1110	•
Wmellsler	
Evonne Wilson, Legislative Se	cretary

ACTION: APPROVING CONTRACT (NO. FA4887-10-R-0042) WITH THE UNITED STATES AIR FORCE-LUKE AIR FORCE

BASE TO CONDUCT A STUDY OF TRADITIONAL CULTURAL PLACES ON THE BARRY M. GOLDWATER

RANGE, NEAR GILA BEND, ARIZONA AND APPROVING THE FY 2011 BUDGET

COUNCILMAN TIMOTHY JOAQUIN MOVED:

SECOND: COUNCILWOMAN SANDRA ORTEGA

DECEMBER 06, 2010 DATE:

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose)	99.35	х			х
	2. MARY LOPEZ ()	99.35	x			
SELLS	1. KIMBERLY MULL	224.80	x			
449.6	2. EVELYN B. JUAN MANUEL	224.80	x			
SCHUK TOAK	1. FRANCES B. CONDE (Absent) (Fredrick Jose) (Present)	79.50	x			•
159.0	2. LINDA PARLEY (Agnes Joaquin)	79.50	X		-	
SAN XAVIER	1. FELICIA NUÑEZ	102.35	x			
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35	X			
SAN LUCY	1. LORRAINE EILER	93.55	x			
187.1	2. GLORIA RAMIREZ	93.55	X			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	92.25	х			Х
184.5	2. EDWARD MANUEL (Gerald Fayuant)	92.25	x			
HICKIWAN	1. MICHELLE ORTEGA	87.25	x			
174.5	2. SANDRA ÓRTEGA	87.25	Х			
GU VO	1. GRACE MANUEL	103.15	x			
206.3	2. PAMELA ANGHILL (Angela Ortiz)	103.15	Х			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05	Х			
230.1	2. CYNTHIA E. MANUEL (Louis J. Johnson)	115.05	X			X
CHUKUT KUK	I. ETHEL GARCIA (Sara Mae Williams)	138.50	х			
277.0	2. VERLON M. JOSE	138.50	Х			
BABOQUIVARI	FRANCES MIGUEL (Roberta Harvey)	162.0	х	· · · · · · · · · · · · · · · · · · ·		
324.0	2. FRANCES G. ANTONE (Vernon Smith)	162.0	X			
TOTAL		2,595.50	2,595.50	-0-	-0-	[03]